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Geometry Chapter 6 Pre-Test

1.) (2.5 pts each, 5 pts total) Name each of the following shapes. Place a check beside
each category of shape for which it qualifies.

Name of Shape: P&fﬂ((//lqu

This shape also fall under the category of:

adrilateral
[ Jrectangle
[ Jrhombus
[ Jsquare £
[ Jtrapezoid

[kite ¥
Uparallelogram
o't

b) Name of Shape:

This shape also fall under the category of:

[ Jkite
[ |parallelogram
[ Jquadrilateral

[ Jrectangle L | 7

[Jrhombus

[ Jsquare
[ Jtrapezoid

2.) (5 pts total) Determine the most exact name for the X
quadrilateral with the given vertices.

(‘g\) (6 .7') ‘60 .

(-3,-2), (-3, 1), (0, 2), (0, -1) gm=EB!
A=/\)(x£'x.)* “4) ,égb%s
Paﬂ/\u@[ﬁf o m.(.;)’i(k,)z \ﬁa
3"+ r
(q+| =le ;




3.) (2.5 pts each, 5 pts total) Draw out the indicated shape. Include congruent sides,
congruent angles, and congruent diagonal lengths where necessary. Indicate all
appropriate 90° angles and parallel lines as well.

@ rhombus

b) parallelogram

4.) (5 pts each, 15 pts total) Find the value of x in each parallelogram.

KU=3x+3 T
UM=4x—4 kv = Um

N ¥

- 3X*3’= L}X’q
; w A ¥
24+ = 'Y
b) o S,
E E

)7:><Z



6 A briof Nf)(”

Allers
@ v S \‘oygkt”
M | 86°- [ox-2-l6x+l T2
g CoLe s abx+ 76
y -7 —7
X: oy =26x
26 26

5.) (5 pts each, 15 pts total) Use your knowledge of the properties of rectangles to answer
each of the following. =

Find Z1, £2, and Z3.
n ) an S 1:_
£1= (g0 .
) 60
22= 350 e
43=% 4 l + 9’.2: QO
Go +32=20 ZL=30°

b) WY =4x + 10 W, X
TX =3x-2
T
Find x. -
* N

}’DWY = TA or WY =L TX
Ny \

xelo= 2 3-2)



A\ +43kal= 180 \g.w'(’y 4
£1=3x+4

£2=2x+6
£3=7x-2

Find x.

Y| +42 =190
J J

3)(4,(«[-[—3_)(4/{, ~-90
9x 1o =70

’tb — (o
6[: 60 X
5 5

6.) (5 pts each, 10 pts total) Use your knowledge of the properties of rhombi to answer
each of the following.

Findx. W
_ 2 a
WO 54x + 8
ox=—13;+12 W 0 ":0\/ 0
OY = 5x- 3 ! L
L-‘:)(-(-/%:Sx’g
t3 43 . ’
Y+((=5X
_qx X

(b

b) Find xandy. .

12y° {4y —1r
Tx+2



7.) (5 pts, 10 pts total) Use your knowledge of the properties of}a_ee/zglgs to answer each of
the following.
Alt Tt ¥'s
a) Find £1& £2
gs°+ 42 +¢| =180
\

@s°+ A2 + 30 =(80° 4

NS+ s2=180
—\S 1LY ,,,_. /
b) Find x. —~
= 4x, EG x4+ 10

b
DF:=C&
TR
Ux.= 2x+lb G
2% U

\\l\b\
l \) )

8.) (5 pts, 10 pts total) Use your knowledge of the properties of kites to answer each of the
following.

2 O Dmﬂoml&

M3 . ace also

a) Find the indicated angles.

41=<10° 1
(L b\?(_c{\)ﬁ
2= 28° ékﬁj—
23= 5y’ i
Qo+ 52+ €L - (80
oupuidirenlr Disechr
340 [U2 L=
ST -y 92



b) Find xandy.

9.) (5 pts each, 10 pts total) Find the length of variable indicated.

a) Find KJ

KF<2zAC

21T = AC
2 7
b) Find x.
ASC = FD

10. (5 pts) Is the pomt glong the line formi perpendlcular bisector of the line
segment AB if point A isA-2,3) gnd point B i (6 -7)?)Show your work.

DT
(/@\ (Z %)\_a CZ«Z/) W\VLSX/WO

& \g (}m/‘- CQ, —/h-’-‘, CZ Z/ @LI

VN6 ~ Lsﬁtww(“ ;




11.) (2.5 pts each, 5 pts total) Use your knowledge of triangles to answer each of the
following.

a) Order the angles within the triangle from least to
greatest:

X, YV L

b) Can a triangle with the lengths 6 cm, 7 cm, and 14 cm exist? Clearly state why
or why not.

12.) (5 pts) Label each of the following.

B——¢c*+—F oA D F : sp(



